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Answer all the questions.
Assume suitable data that are not given.

Compare and contrast the properties ofvoltage shunt and current-shunt feedback amplifiers.

What is the difference between function gengrator and signal generator ?What is meant by
sustained oscillation ? Explain.

Define and explain :

(i) CMER : (ii) OFFSETNULL of an op-amp.

What is a BuFer ? How a buffer is constructed from an op-amp ? Derive the voltage gain.

Draw the practical versions of Inverting and Non-inverting comparators. Enumerate the
advantages and disadvantages of them.

Enumerate the applications of PLL in communication Engineering.

Derive the transfer function of first order Butterworth low-pass filter.

Explain the principle of operation of FLASHADC",with a neat diagram. List its advantages
and disadvantages.

(8x5=40marks)
(a) (i) Draw and explain the principle of operation of current series feedback amplifier.

(ii) Derive the Barkhausen conditions for sustained oscillations

(8+7=15marks)
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Distinguish the following :

(i) Amplifiers from Oscillators.
(ii) RF oscillator from AF oscillator.

(i) Define and explain the following :-
(1) Slew rate ; (2) PSRR.

(ii) Derive the output voltage expression of an op-amp. differentiator.

Maximum : 100 Marks
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Ertsah the following op-amp. circuit :-
€g'o77

(15 mar*s)

. ,1; : 
: (rd lbeap follower.

.'.:);lr- (fii) ldder-
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(i' amplifier.

(5+5+5=15marks)
I9. 

-h) 
&plain in detsil tb€ rde of log and anti@ amplifiers in coastructing opamp. multiplier

\ arid divider.I)erive tlre nelerrant equati,ons.

,o,
('\G) Writ€ technical notes on.:

,l (i) -Frequeacy.Mrrltiplication.

(ii) Line synchionfsation.

V. '(a)

(b)

(E+7=lSmarks)
Design a Forth order Butterworth Low-pass filter, whose bandwidth is 2 LIIz.

:,
Or

With a neat block diagram, explain tb-e principle of operation qf Dual sl€pe Analog to
Digital converter. Enrwrate its advantages and disadvantages

. (16 narks)
tl x lF = 60 marksl
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